
» TIME



TO BEST UNDERSTAND TIME AS THE AMERICAN INDIAN SEES IT, WHAT IS THE METHOD OR FORMULA THAT 
TWO DIFFERENT CULTURES MAY LOOK AT, ON A COMPARATIVE BASES?

TO BEGIN, LETS KEEP 1,440 MINUTES IN ONE 24 HOUR DAY. ANY WHLTE SCIENTTST wml. QUOTE THAT IT 
TARES 8 MINUTES FOR THE LIGHT FROM THE SON, TO REACH THE EARTH. WITH THE sUN AT 93 M11.mON 
MTLES FROM EAROH­93M1LLTON DTVTDE EY 8MINUTEs= 186,000 M11.Es FER SECOND

LIGHT WAS TRAVELING TO REACH EARTH.

THIS IS HIGHLY ACCEPTED AS A SCIENTIFIC FACT AMOUNG CIVILIZED SCIENTTST.

BUT IN ELECTRONICS, THE QUOTE IS

TO TRAVEL AT 186,000

.......LIGHT TRAVELS AT 185,000 MILES PER SECOND, RELATIVE TO THE OBSERVER....

ACCORDING TO THIS, THE AMERICAN INDIAN MUST BE THAT OTHER DIFFERENT OBSERVER REVIEWING 
THE SPEED OF LIGHT!

LET'S KEEP THJB 1,440 MINUTES IN ONE 24 HOUR DAY, TO EXPLAIN THE MATH R CALCULATING SYSTEM 
OF THE AMERICAN INDIAN.

HOW LONG DOES IT TAKE LIGHT LEAVING THE SUN TO REACH EARTH? ACCQRDING To INDIAN MATH, 1,440 
MINUTES DIVIDE MINUTES1 IFIT TAKES 7.9558011 MINUTES, How FAST IS THIS LIGHT TRAVELING? 93M1I,LIoN 
DIVINE BY 7.9558011= 194,826.38 MILES PER SECQND:

WE HAVE A SLIGHT DIFFERENCE BETWEEN THE WHITE MAN AND THE AMERICAN INDIAN ON THE 
SPEED OF LIGHT. V

A DIIFFERENCE OF 8,826.38 MILES PER SECOND. THERE IS ALSO A DIFFERENCE OF .37753233 OF A MINUTE, 
WHICH IS 22.65194 SECONDS

THIS 22.65194 SECONDS PLAYS AN IMPORTANT PART IN THE SPEED OF LIGHT BECAUSE THE SPEED OF 
‘IIME MUST BE CONSIDERED FOR TWO REASONS. (l)BECAUSE OF VENUS WHICH CAUSES A DIMENSIONAL 
CHANGE, AND(2)THE DISTANCE THE EARTH WILL HAVE TRAVELED BEFORE LIGHT REAC HES AND I‘TS 
MEAN DIAMETER.

TO FIND OUT HOW FAR THE EARTH ORBITS IN 477.34806 SECONDS, WE HAVE TO FIND THE DISTANCE IT 
ORBITS AT A GIVEN TIME. 93MILLION(X)2(X)PI=584,335,740/)365.242l98(/)24,60,60=l8.5l6887 MILES PER SECOND 
477.34806(X)l8.5l6887’ë8838.9953 BUT THE EARTH IS ONLY 7918 MEAN MILES IN DIAMETER SO THE .EARTH HAS 
TRAVLED BEYOND ITS ORBIT EXISTENCE WHICHHAS TO BE DEDUCTED. 
477.34806(X).895803l7%=427.6099lSEC., 49.73815 SECONDS MUST BE PUT BACK. TO DO THIS WE MUST KNOW 
THE SPEED OF TIME WITHOUT DIMENSIONAL CHANGE 194826.39(X)l8l=35,263,577 MPS. 93MILLION(/)35263577= 
2.6372821 SECONDS A A TO TAKES TIME TO TRAVEL FROM THE SUN TO EARTHQ49.73815(/)2.637282l=l8.859624


